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A10 Fluids and Waves solutions — version 5 of 28/04/16

Question 1: Part (a) is Bookwork. The calculation of u from the flow map in (b) is New. Parts
(b), (c), (d) are otherwise standard vector calculus exercises that are Similar to seen results for
purely 2D flows in the xy plane.
1. (a) [b marks]
0 1
fu+u-Vu:—pr, and V-u =0,
ot )

where the density p is constant. Use a vector identity to rewrite as

()<

Ow
and take the curl to eliminate the two gradient terms, leaving o +V x(wxu)=0.

g—?—l—wxu—i—v

[8 marks] The Eulerian velocity field is u = —| , with components

‘ X

D [ Q Q 1
w= 2| = —az+e | -2X0e2sin <(62°‘t - 1)> — 2Y Qe*™ cos ((ezat - 1)) ;
Dt |x i «a a |
= —ax — 2Qye®™,
D [ Q Q |
v="29 = —ay + e~ | —2Y Qe sin <(e2°‘t - 1)) + 2X Qe cos ((e%‘t - 1)> ,
Dt |x i o o ]
= —ax + 2Qze®*,
D
w = 2| = Ze2t = 20z,
Dt |y

This gives u = (—ax — 2Qye®* —ay + 2Qze?* 2az) as required. Now we can calculate
Vu=—-a—-a+2a=0.

Similarly, the vorticity is

i j k
w=Vxu= Ox Oy 0. = (0,0,4Qe%).
—ax — 2Qye®?  —ay + 2Qze?*t 20z
(c) [8 marks]
i k
wxu=|0 0 40| =40e** (—v,u,0),
u v w
and
i j k
Vx(wxu) =4Qe** |0, 0, 0.|=40e*(0,0,0,u + dyv) = 4Qe**(0,0, —2a).
—-v u 0
Hence
2at dw
Vx(wxu):—8Qae k= E

[4 marks] A radial inflow (—ax, —ay, 0) and compensating outflow parallel to the z axis is
superimposed upon a rigid rotation. The vorticity 4Qe?* increases over time to conserve
the angular momentum of fluid particles as they move towards the z axis. This is an
example of vortex stretching.
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Question 2 - part (a) has appeared twice in previous exams (including last year) and on this
year’s problem sheets. Part (b) is bookwork - the canonical application of the Milne-Thomson
circle theorem. Part (c) is seen in lectures. Part (d) is Similar to lectures. They have seen
that it is easier to transform to an integral in z over |z| = a, as suggested by the hint, rather
than an integral round the ellipse in ¢, but not this particular calculation. The small piece of
interpretation at the end is New.

(a)

[5 marks] The moment of the inward pressure force is

M=e,- /xx(—pn)ds = /p(:cdm+ydy).

By Bernoulli’s theorem for steady irrotational flow,

2 = 1 dﬂ2
= Po P dz

1
p—po—iplu 5

The contributions to the integrals below from the constant background pressure py vanish.
Using zdz = (x + iy)(dz — idy) = xdz + ydy + i(ydx — zdy),
dw dw dwdw _

1 2 1
M=—> dz) = — = ey
2”/6 | Be=d?) 2”Re/c dz Cdzaz
1 dw 1 dw 1 dw 2
= —ipRe /CZdZdU) = —ipRe /CZdZdw = —EpRe /CZ <dz) dZ

[4 marks| Putting z = ael? to parametrise the circle, the complex potential becomes

dw dw |?

1
dz = —-pR
zdz 5 PRe

w=U (aeiee_ia + ae_ieeio‘) = Uqel®= 4 complex conjugate

so the streamfunction ¢ = Imw is constant on |z| = a. Far from the cylinder, the flow
approaches the uniform flow w ~ Uze™® inclined at angle o to the positive real axis.

5 marks| Putting z = ac'? again gives
[

_ 2 2 2
sz+c2/zzaele+ce_1€:<a+c>COS€+1<CLC>Sin9,
a a a

which is the parametric form of the ellipse

Re¢ \? Im¢ \°
<a+02/a> +<a—02/a> =1

The inverse Joukowski transformation is
1/2

2=(/24(P/4-c) "7,

with the branch of (¢2/4 — ¢2)1/2 chosen so that z ~ ¢ as |¢| = co. The flow far from the
ellipse thus approaches the same uniform stream as in part (b). Its complex potential is

W =v [(€/2 (/A=) ) e e (¢/2 4 (- 02)”2)‘1] .
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(d) [11 marks] The moment is

1 2
wme [, < () o
—pome [ (7)o
2 —1
e [ (@) (&) o
— —%pU2 Re /ZI=a| z zzJ_rzz (e‘ia — (:Zei':“)? dz.

The quicker way to evaluate this integral finds the coefficient of 1/z in the Laurent ex-
pansion about z = 0 of the integrand that holds in an annulus containing |z| = a > c.
This is given by writing the integrand as

2 2 2 2 2 2 4 2 4
2T tc —i a” i o c c Cc —9i a a o
2(1_2/2>< ‘2) —(”z) <1+zz‘z4+"')<e CTE T )

The coefficient of 1/z is

B
=)

e _ 942 4 2e7%0 _ 92020 9,2 ()
so the moment integral is
1 .
M = —5,0U2 Re (27i (2c2e 2 — 2a2)) = —27pU?c? sin 20

Alternatively: The integrand has poles at z = 0 and z = +c¢. The residues at z = +c¢
are both equal to

The residue at z = 0 comes from writing the integrand as

2 2\ 1 2 2 2 2 4
z z : a” z : a a :
_ 1 ~ 1- 2 i 7 i« _ _ 1 22 —21(1_27 v 2 .

The coefficient of 1/z in this expansion (valid for |z| < ¢) is
942 — 9% 2ia
2
so the sum of the three residues is
at o ; - ;
2a° — 2—2621Cy + 2¢2 <e_21°‘ —2— + 4ela> = 2c%e™2™ — 942,
c c c
This is the same as the coefficient of 1/z in the earlier Laurent expansion valid in an

annulus containing |z| = a > ¢, the expression (t) above.

Due to the —sin 2a dependence, the moment tends to align the ellipse broad side on to
the oncoming stream.
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3. Question 3: All Similar to a problem sheet question.

(a)

[6 marks|] Looking for a solution with ug just a function of r, the given curl formula
becomes
1 9(rug)

\V4 = -
xu r  Or

€2

so the irrotational flow in 7 > a must have ug = C'/r for some constant C. Rigid rotation
with angular velocity 2 implies ug = Qr for 0 < r < a. Making the velocity continuous
at r = a determines C' = Qa?, and ug = Qa?/r as required.

[6 marks] Bernoulli’s theorem for steady irrotational flow (valid in r > a) gives

1
Py ~|u|?® + x = constant,
p 2

where x = gz is the potential for g = —Vx = —ge..
Using p = patm is constant on the free surface, and n — 0 as r — oo, gives

2 0%t

29  2gr?’

1
5\U|2+gn=07 = 5=

[9 marks] The relevant forms of the components of the Euler equations are

up  10p _ 10p _

poz

0, an

r o por
Putting ug = Qr, these integrate to give
P_ 1o p
— ="+ f(2), and = = —gz + h(r),
p 2 p
where f(z) and h(r) are two functions of integration. Making the two expressions consis-
tent determines

1
P 2g22 —gz+C,
p 2
where C' is a constant. Making the pressure on the free surface continuous at r = a gives
0%a?

29

1
Patm _ 592@2 —g <

> +0, — c=Dm_g22
P

p

SO

1
P _ Patm | 5(22r2 — gz — Q%a®.
PP

Putting p = patm on z = 1 determines the free suface location in r < a:

QQCLQ 7“2
— 1)
7 g (2a2 >
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(d) [4 marks] Putting the calculated free surface positions in r < a and r > a together gives:

gn/(Qa)’

0
r/a

The free surface position and its derivative are both continuous at r = a.
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